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Use column subtraction to help you solve this calculation.

19,47246,289 - =
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answer

Use column subtraction to help you solve this calculation.

19,47246,289 26,817- =

21 153
64 8 9

71862
27491-
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Use column addition to help you solve this calculation.

58,62934,508 + =
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answer

Use column addition to help you solve this calculation.

58,62934,508 93,137+ =

5

1 11

43 0 8

73139
92685+
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Draw an arrow to show where 2.78 would be on the number line below.

2 3
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answer

Draw an arrow to show where 2.78 would be on the number line below.

2 2.82.7 3
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What is the value of the angle x?

x

29°
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answer

What is the value of the angle x?

x

29°

The angles on a straight line always 
add up to make 180 degrees.

x + 29 + 90 = 180

x + 119 = 180

x = 61°
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45.089

What is the value of the 9 in this number?�
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answer

45.089What is the value of the 9 in this number?�

Ones Tenths Hundredths ThousandthsTens

0 8 954

The value of the 9 in this number is 9 thousandths.

or 0.0099
1000
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Convert 3     into an improper fraction.1
3
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answer

Convert 3     into an improper fraction.1
3

3
1

3

10

3
=
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Convert      into a mixed number.24
5
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answer

Convert      into a mixed number.24
5

4
4

5

24

5
=
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Write the next fraction in this sequence as an improper and mixed number fraction.

17
4

13
4

9
4

4

5

Improper fraction

4
4

5

Mixed number
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answer

Write the next fraction in this sequence as an improper and mixed number fraction.

17
4

13
4

9
4

5

4

Improper fraction

1
1

4

Mixed number
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40

Find      of 40.2
5
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answer

Find      of 40.2
5

40

8 8 8 8 8

40 ÷ 5 = 8

= 81
5

= 162
5
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Complete the calculation below.

4
3

4
2

3

4
+ 4

4

5
=
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answer

Complete the calculation below. 4
3

4
2

3

4
+ 7

2

4
=

4 + 2 = 6

3
4 + 3

4 = 6
4

6
4 = 1 2

4
6
4 + 1 = or2

4 7 2
4 7 1

2


